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Test bank

One of the following is cluster A personality disorder:
- schizoid*
- histrionic
- borderline
- Narcissistic
True about Autism:
-Treated with Ritalin
-Non-verbal communication is a feature
All choice were wrong
19 year old female patient with disturbed body image, Amenorrhea and BMI below normal by 20% :
- anorexia nervosa
True about enuresis:
- more common in females
- behavioural therapy is the mainstay of treatment*
Dyspareunia:
-Painful intercourse*®
-Masturbation

A male was caught by police masturbating outside a window, when asked he said for 3 Months he has
been watching a young girl inside, this is:

-Pedophilia

-Voyeurism*

-Exhibitionism

True about enuresis

-Education/behaviour? Is useful for management*
-Common in school girls

About enuresis wrong:

-more in girls



not a personality disorder
-narcessistic
-paranoid*®

-esthetic



which of the following is wrong about intelligence:

a- first assessment of intelligence was done by Binet in
1904

b- 1Q is stable over time

c- their is no IQ differences btw races

d- education increase intelligence by 30 points in WISC
e- their is no correlation btw parents IQ and their children

1Q

which of the following is not a well known form of
intelligence:

a- mathematical

b- recreational

c- musical

d- kinesthetic

e- interpersonal

the theory of sigmund freud about psychoanalysis was
centered around:

a- cognition

b- unconscious

which of the following is not related to individual
intelligence:

a- uncle's 1Q

b- quality of stimulation

c- emotional climate

d- birth order



which of the following is true about personality;

a- freud said it is composed of ego and superego

b- objective tests are used to asses conscious part of
personality

c- personality traits are inherited

d- roger studied self actualization

e- MMPI is a subjective test

all of the following are part of big five traits of personality
except:

a- emotional stability

b- extroversion

C- Openness

d- agreeableness

e- reaction formation

which of the following is wrong about IQ:

a-average correlation btw parents 1Q and their children is
80

b-average correlation btw adopted children is 25
c-average correlation btw MZ twins is 90

d- average correlation btw DZ twins is 55

Reductionism is a term used by scientists of which of the
following perspectives:



which of the following is true about Wachsler
intelligence scale:

a- assess the intelligence of children

b- contains 9 verbal scales

c- contains 3 performance scales

d- high validity and low reliability of the test
e- most people score btw 90 and 110

the consolidation of memory begins at the age of 3
when the hippocampus gets mature

(sht like) ... this represents which of the following
perspectives:

psychology is defined as a scientific study of:

All the following are true about defence mechanisms
except:

a- reaction formation is a defence mechanism

b- they usually occur when anxiety is intolerable

c- rationalization is a rare defence mechanism

d- denial occurs a lot in cancer patients

e- projection can be a defence mechanism

the most important factor when assessing personality is:
a- family life

b- relationships

c- professional affiliations

d- employment record



The following are true about psychological defence
mechanisms EXCEPT:

a- They are unconscious behaviours

b- They are protective to personality

c- They occur in stressful situation

d- They do not distort reality *

e- may lead to anxiety in excessive use

The following are known as the big five personality traits
except one

a- Emotional stability

b- Vulnerability.

c- Extraversion

d- Openness

e- Agreeableness

which of the following is wrong about intelligence?

a- first assessment of intelligence was done by Binet in
1904

b- 1Q is stable over time

c- there are no I1Q differences btw races

d- education increase intelligence by 30 points in WISC
e- there is no correlation btw parents 1Q and their children.



which of the following is not a well-known form of
intelligence?

a- mathematical

b- recreational

c- musical

d- kinaesthetic

Which of the following is wrong about 1Q?

a- average correlation btw parents 1Q and their children is
80

b- average correlation btw adopted children is 25

c- average correlation btw MZ twins is 90

d- average correlation btw DZ twins is 55

True about intelligence -> more differences are intraracial
than interracial.

All the following are false about intelligence except:

a- intelligence is the product of stimulation in early
childhood

b- 1Q was calculated according to mental age over
chronological age

c- intelligence continues growing until age of 25

d- successful people are not necessarily highly intelligent
e- people of are usually low in intelligence



